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Please check that this question paper contains 23 printed pages.
FUT T FX A [ 59 F9-T9 G 23 Glad TS &

- Code number given on the right hand side of the question paper should be written on the title

page of the answer-book by the candidate.
m—w#aﬁ#a&aﬁaﬁ?ﬁtf—waﬁgwaﬁmw—gﬁmﬂ%g@ TS | ferd |
Please check that this question paper contains 37 questions.

FT ST X & 1% 59 Je7-T9 537 F¥T &1
Please write down the Serial Number of the questzon in the answer-book before

attempting it.
FUAT T T I TG & T § e, mgﬁw#maﬂwm%@/

15 minutes time has been allotted to read the question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the question
paper only and will not write any answer in the answer-book during this period. '

o JvF-9F F UG & RIq15 fie F G R T &1 FeT-TH T R0 g 410,15 7
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(vi)

(vii)

(viii)

(ix)

(x)

(x1)

This question paper comprises ixsections-A, B, C, D, EandFE. All questions are compulsory.
I9T-TF 1 @ @S X [ [ T8 - W, G T, T, F UG w1 G 5T Sifvar 8
Section A - Question No. 1 to 20 are Multiple choice questions, carrying 1 mark each.
@S - F & 7v7 &1 G20 7% Tgawcdd bR & Jv7 & T g991 7% &7 &

Section B - Question No. 21 to 24 are very short answer type questions, carrying 2 marks
each. Answer to these questions should not exceed 40 words,

T - @ g G 21 24 TF ARTTTT TIR & F97 &1 7l 5972 TFEFTEI gaa—q,r
F97 & FT40 V=) G 3714 781 el Feq /

Section C - Question No. 25 to 29 are short answer type questions, carrying 3 marks each.
Answe; to these questions should not exceed 60 words.

G - T H 597 G&I25 T 29 T o7 STRIT THR & Jo7 &1 Gk go73 3% H1 &1 TAF
T9T &I IW 60 ¥l G e 76l &l =Y/

Section D Question No. 30 to 33 are long answer type questions, carrying 5 marks each.
Answer to these questions should not exceed 120 words.

TS - T - J9730 T 33 TF 5 SHIT T97 &1 HF’»?&»"W5 37 HT &1 Gk F97 T STL120
Vil @ 37 781 8T T

Section E Question No. 34 to 36 are case based questzons with three sub-questions and are of

4 marks each.

(xi1)

(xiii)

(xiv)

(xv)

(xvi)

Te-T 99734 936 W%W%W?Wﬁvw—w?aﬁ?mmaw HFEI

Section F Question No. 37 is Map Skill Based Question carrying 5 marks with parts
(A) from History (2 marks) and (B) from Geography (3 marks)

Ee-T T 97 &I 37 FAfTT FI5eT SRT & I8 9T 5 378/:‘6/77??/77%537687?7# T
(A)-(2 37%) T T @ ST (B)-(337%) Tarda &1

Answers should be brief and to the point. Also the above word limit should be adhered to, as far
as possible.

WWWHW%NWW@T@W@?WW—WWWWWWW/

There is no overall choice in the question paper. However, internal choice has been provided in
some questions in each Section. Only one of the choices in such questions has to be attempted.

Jv7-97 4 GHI T B [0 76 & awﬁww#ﬁmﬁwﬁm%q%?/ TG 7T g
T U &l [aaned T ST foikag |

Cut the MAP from your question paper and attach it to your answer book.

T¥7 U7 & 87 # QU T GAfF &) 12 S 3791 SIR-GIadhl & Qe Gorvd &3/

In addition to this, separate instructions are given with each section and question, wherever
necessary.
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SECTION - A /| ©@UE - &

MULTIPLE CHOICE QUESTIONS / &g fersrediiar wg= 1x20=20
1. TheSilk route linked Asia with which of the following ? | : 1
(a) Europe (b) North Africa
(c) America (d) (a) and (b) both
figess = 3 TR Y Frefafas § @ e @y e
(a) T (b) ST THIE
(c) S (@) (2) ¥ (b) FTH
2.  Who introduced Printing Press in India ? 1
(a) French missionaries (b) Italian missionaries
(c) Portugese missionaries (d) Dutch missionaries
s  Fif 3 %) oo e 2 -
(a)'mmarfwr{aﬁ%r (b) sefere o g 7
(©) TR et R 3 @ <=
1

3. Which social evil has been addressed in the book ‘Gulamgiri’ ?

(a) Injustice of the caste system.
(b) The link between caste and caste exploitation.

(c) The miserable lives of upper caste Hindu women. -
(d) Tradition of Sati. ,
‘TRt qEe H fore e 90 1 Galferd feran T © 2
(a) STfagem % TR |

(b) ST Qe St SO % o= 1 R

(c) ¥= Sifd t AREN kT I B1era |

(d) Gdr gerl |
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4. Study the picture and answer the question that follows::

Which of the following options best 51gn]_f1es the image of ‘Germania’ ?
(a) Asa protector of Germany.

(b) Beginning of new era.

(c) Asa protector of German Rhine.

(d) Symbol of the German empire.

ﬁ:qmﬁﬁama?waﬁaﬁ aﬂwﬁﬁquww 3

e B Q99 91 forerey ST 6t B I HaQ 30T ST § 2
(a) ST % &TH & w9 H|

(b) e T G HT AU |
(c) ST T F &E & FIH|
(d) T W H G-l |
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Note:  The following question is for visually impaired candidates only in lieu of

Q.No. 4.
Romanticism refers to as a : :
(a) cultural movement (b) religious movement
(c) political movement (d) literary movement

A ﬁmﬁf@ammwm4%wm§mﬂaméﬁm%l
T 1 HefHa wa § 2
(a) WiEHfT SR (b) wnfifer eTidem
©) Tefaeh e , (d) wfefereh sridrem

5. Identify the cropping season with the helpl of the following information :
o  These crops are grown with the onset of monsoon in different parts of the

country.

e  Theseare harvested in September-October.
* Important crops are paddy, maize, bajra etc.

(a) Rabi (b) Kharif (c) Zaid (d) Both (a)and (c)
frefafad SRt T weRmn | I g $ I8TE AR
o 1 Al I W o faf & | A % ST ésmuaﬁs‘wﬁ%n
e IfqdM -STRRAARE A ALl
o TN, HIHI, SIS, G Y& FH B | |
() it (b) &lw (€ S™E  (d) (a) 3R (c) I

6. Consider the following statements about Reserved Forests. Which statement is

INCORRECT ? :

(a) Reserved forests are owned by the government and all the human activities
are not allowed in these forests. :

(b) These forests are regarded as the most valuable forests in terms of conservation
of forests and wildlife. 4

(c) These forests constitute about more than half of the total forest land in India.

(d) These forests are owned by the government but the local people are allowed
to collect fuel wood, grazing their cattle etc.

IRfera o & W # Frafafed ¥ § S 91 % T © 2 |

(a) STRIAT o7 TIHR & HUW 8, T Al &l STamsmel g 8|

(b) ST Te o ST o= WIOTE 3 Tayol 1 a1 §, SR a1 1 Wal{ereh qerar we
ST R |

() 2WH MY ¥ ferw sE RMEE o7 =ifta fopg 713 €

 (d) 3Rferd 97 TRHR T WA § T Al SR TR % Wi § 8 € | el
eIt & ek e T8 ¢ |
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7. Match the following : ‘ 1

Type of soil Characteristics
(A) Black soil (i) * It has more fine particles and is more fertile
(B) Khadar soil (i) It is made up of extremely fine i.e. clayey
material ‘
(C) Laterite soil (iii) Lacks humus and moisture
(D) Aridsoil (iv) Generally deficient in plant nutrients
Options: ‘

(@) (A)-(i), (B)-(i), (C)-(iv),(D)-(iii)
(b)  (A)-(v), (B)-(iii), (C)-(ii),(D)-(i)
(c)  (A)-(iid), (B)-(iv), (C)-(i),(D)~(ii)
(d) (A)-(0), (B)~(ii), (C)-(iii),(D)-(iv) -

frfafad =1 faem ¢

- e (R wwew fastoe

(A) Il T () 3HH SR A T 9T S

(B) X HT (i) 9% <Igd Al HUil Teid Gt F &1 T

(C) e T (i) S0 BT iR TH W w B §)

(D) et Ty (iv) o W= 3 e e e a ¥

(@) - (A)-(i), (B)-(1), (C)-(iv)(D)-(ii)
(b)  (A)-(iv), (B)-(iii), (C)-(ii),(D)-(i)
(©)  (A)-(iid), (B)-(iv), (C)-(i)/(D)-(ii)
(d) (A)»-@), (B)-(iD), (C)-(ii)(D)-(iv)

8.  Consider the following statements with regard to power sharing. Select the 1
INCORRECT statement from the following :
(a) Itis good for democracy.
(b) Itcreates harmony in different groups.
(c) Itbrings transparency in the governance.
(d) The political power should be distributed among as few as possible.

T ot ARRR & ey ¥ frefafiad sue ) fEr Tt frfafed & 4 o s w1
=T B | :

(a) I8 drha= & fore 11 ¥ |

(b) % fafi TRl # S s S |

(c) I% WA H uRgfian o ® 1 |

(d) nﬁﬁwwﬁaﬁa@ww@ﬁ%ﬁaﬁﬁaﬁa%mw@n
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9. Match Column A with Column B :

Column A ColumnB
(A) Union territory (i) Decision making body for the entire village.
(B) Gram Panchayat (i) An alliance of two or more than two political
parties.
(C) Coalition Government  (iii) A représentafive body at District level.
(D) ZilaParishad (iv) An area which is run by the Union/Central
: Government.
Options:
(@) (A)-(iD), (B)-(iii), (C)-(v),(D)-()
(b) (A);(iV){ (B)-(i), (C)-(ii),(D)-(iii) -
() (A)-(i), (B)-(iv), (©)-1)D)-(ii)
(A (A)-@), (B)-(id), (C)-(ii),(D)-(iv)
. mem A B W B
(A) &= Infed gew - (i) .tﬁ{lﬁq%r@q ERCICRICISIR
(B) UM WEAd g (ii). i’lm‘q‘rﬁwqu{wﬁi\d% <l b1 TS |
(C) TSEEH TWHR (i) ToFell TR R T T;rﬁrﬁrrq THE |
(D) -f‘GrGIT EIECH | (i;/) ? &1 il Fel/oh WL SN Heliferd fehan e
| 3 |
- 4 ..
() (A)-(i), (B)-(ii), (O)-(iv).(D)-(i)
(®) (A)-(iv), (B)-(i), (O)-(ii),(D)-(iii)
(9) (A)-(ii), (B)-(iv), (O)-()(D)-(i)
(d) (A)-(), (B)-(i), (O)-(iii)(D)-(iv)
038-SS -



10.

11.

Consider the following statements in relation to the meaning of Communal Politics.

Communal politics is based on the belief that :

(i) Onereligion is superior to that of others. .

(ii) People belonging to different religions can live together happﬂy as equa
_ citizens. _

(iii) Followers of a particular religion constitute one community.

(iv) State power cannotbe used to establish the domination of one religious group

over others.

Which of the following combinations are correct ?

(a) (i) (i) (it (iv) ) () (i) & (iv)

(@) (1) & (iii) (d) (i) & (iv)

it T S a1 ¥ T e FeE W AR A

TR TSI 36 |ie W 3enid et § fo -

() THeHTWA IR .

(i) fafem aﬁf%@ﬂwwﬁm%mﬁ@warﬁm%

(iii) T @ g H S W At | U & SEE F e B

(iv) T i AR BT ST T wiTfHieh T ot R TR Wl Teifire i o e q@m

M Hehall ©
frefafaa & ¥ %9 o1 99 9e §2
(@) (i) (i) (iii) R (iv) (b) () (if) R (iv)
() (i) 3R (i) (d) (i) 3R (iv)

Arrange the followmg poht1ca1 partles in chronologlcal order of the year of their
formation: .

(i) AllIndia Trinamool Congress

(ii) Nationalist Congress Party

(iii) Communist Party of India (CPI)

(iv) Bahujan Samaj Party

Options: ' i

(@) (Gi), (), (i), (iv) (b) (i), (i), (i), (iv)

() (i), (v), (), (i) () (v (), ), (i)

fFrefefea Tsrifaer <ol =1 57% e F T F FIATHES w9 F et 5 -

(i) e gfean gore SN (ii) TeHfere HY wret

(iil) FfT= et o1t e (iv) =S §H TRt
foreheu

(@) (i), (i), (iii), (iv) (b) (i), (iii), (ii), (iv)
(&) (Gii), (v), (i), (i) @ (i), G, (), (i)

038-SS ' 8
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12. There are two statements marked as Assertion (A) and Reason (R). Mark your
answer as per the code provided below :

Assertion (A) : Democracy is based on the idea of deliberation and
negotiation.
Reason (R) : Democratic government develops a mechanism for citizens

to take active part in decision making,.
(a) Both (A)and (R) are true and (R) is the correct explanation of (A).
(b) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(c) (A)is true but (R) is false.
d) (A)is false but (R) is true.
aﬁﬁmaﬁtwémﬁﬁﬁﬁa‘rw% | :ﬁ%ﬁqmaﬁgq%m ST ST
3iferd Y -
SRR :  Tha H S 31X Hewlel % SHR TR HH =ewd ¢ |
H/ROT ;e AR ol o # i am o % fore T 7 o
H 2| |
(a) fyeRem aﬁiwaﬁw%aﬁtwﬁwﬁww%
(b) st 3R FRO M e § TR U, AR, W S T ¢
(c) Sfere T § TReg RV 3THA B |

(d) AT 3T § Tg O FA B

13. What s the significance of year 1970-1993 W1th regard to Belgium ?
(a) There was Civil war in the country. K
(b) The Community Government was established.
(c) Theheadquarters of European Union was established in Brussels.

(d) They amended their Constitution four times to accommodate regional
differences and cultural diversity.

W%waﬁaﬁwmw%quaa%?
(a) <UH TGS A

(b) WHEITHE TIHR i TATTAT T 7T |

(c) Wﬁww%wﬁwﬁﬂs‘l

d) SR &g HawE) aﬂtm@mﬁﬁwﬁmwﬁﬁmmaﬁmﬁ
IR IR 9ied foan
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14.

Net Attendance Ratio (per 100

Infant Mortahty theraocy
State Rate per 1,000 Rate % persons) secondary stage
live births (2018) |2017-2018 (age 14 and 15 years) 2017-18‘ _
Haryana 30 82 61
Kerala 7 94 83
Bihar 32 62 43
Sources Economic Survey 2020-21, P.A 157 volume-2, Na’aonal Sample

Survey Organisation (Report No. 585). National statistical office, Government of
India.

Considering the given comparative data in the above table choose the correct option
of States in descending order of their state of affairs :

(b). Bihar, Haryana, Kerala
(d) Kerala, Haryana, Bihar

(a) Haryana, Kerala, Bihar
(c) Haryana, Bihar, Kerala

: : GR{K”FE)‘(HEJ‘ | »‘
M gr““me m w\'g*f:ggh ‘ra 69“@%&» liflnk\z
. |gar ﬁmmm

T '1,000%’%5(2018) % (fe 100 =afer ) wreafies @
2017-2018| (Mg 14qur 1599 ) 2017-18

s | 30 82 ‘ 61

A | 7 94 83

forer 32 62 43

Hid: e weam, 2020-21 P.A. 157 AIH 2. T Hiferah! shrifer, IR TFR,

T T weeqor (RO wen 585)
Wmﬁﬁnmmmmﬁwm@Wﬁm%mm
W T forhed i w w |
(@) ¥, e, forer (b) o, e, e
(c) @R, foreR, et (d) 3@, efamn, fr
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T o T T T e o B A B R VU LI Y S T TR NN LW T DN SIR R R TRy

i Ut oA o o )

R Y P e A ey R o 1.

'15. Arrange the following in the correct sequence :
(i) Transporting cloth to the workshops.
(i) Salein shops and showroomé. |
(iii) Spinning the yarn.

(iv) Weaving of the fabric.

Options: |
(&) (), ), (i), (i) () (i), (), (i), (i)

© () 6), G, (i) @) (i), (), (i), G)
frefafed aoli | wd A fae s - .
@) m%@raa%sﬁqwam-l (ii) FUgl ! fosh! gehm Steren viem H |
(iii) %Irﬁ'ﬁaﬁrs‘l | (iv) TS I AR H, FHISI TIR HEAT |
faewea: | ‘
@ (@) Gv), (i), (i) (b) (i), Giv), (), (i)

(©) @), @), (i), (i) (@) (i), (i), @), @)

16. Find the odd one out from the following options::
(a) Krishak Cooperative, Punjab National Bank, Self-Help Groﬁp.
(b) ‘Landlords, friends, money lenders. _
(c) Reserve Bank of India, Bank bf Baroda, The State Bank of India.

(d) Commercial Banks, Cooperative Societies, Cooperative Banks.
frrfetea o @ faun fomey =1 fafed = |
(a) ok HEHN R, TS YA e, T W T

(b) wiER, <1, WEHR - L

(c) Tird S 3t sfean, S it I, We d 311 sfean

(d)‘ aifrfrere e, ewRT AUl TehRl S

038-SS ‘ 11



17.  Fill in the blank :

Column A Column B
(A) Primary Sector (i) ?
(B) Organised Sector (ii) Fixed hours of work
Options::

(a) Provide personal services like barbers,
(b) Exploitnatural resources,

(c) Industrial activity.,

(d) Low paidjobs.

ﬁ?ﬁ@‘lﬁaﬁ{ﬁfﬁ
aﬁaw-A' ' HicH - B
(A) Wufaw S5 (i) ?.
(B) wfaq & (i) FW ¥ ey T
ﬁﬁr«w:

(a) aﬁa’f,aaﬁaéﬁwﬁmaﬁaﬁmm%l
(b) TFTE FE w e g

(c) Henfies wfiferfer i

(d) F9 9 Treft Sesfat

18. Sridhar works ina Gove

(¢) Only big businessmen are given loans,
(d) Low interestrate is charged.

lawyers etc.

038-SS | 12



1k f

- 20.

Which is the correct option for Classification based on the nature of activities ?

(a) Organised and Unorganised Sector

(b) Public Sector and Private Sector

(c) Primary, Secondary and Tertiary Sector

(d) None of these
ﬁqﬁqﬁgﬁﬁﬁaﬁqmwmmuﬁ%wawﬁmmmmﬂﬁﬁmﬁ

@) grfsa Ta TS &

(b) e 3R fslt &

©) qrerfiren, fediae T e &

(d) T ARR T o

Consider the following statements and select the correct code::

Globalisation is the process of rapid integration or
between countries.

Slow improvement in technology has been a majo
stimulated the globalisation process. |

(a) StatementIis true and Statement IT is false.

(b) Statement I is false but Statement 1 is true.

Statement I: interconnection

Statement 11 : r factor thathas

(c) ' Both Statements I and IT are true.
(d) Both Statements I and II are false.
o T e R foreR R S wE S
o s el T S @ A ¥

ﬁm—l:ﬁfﬂﬂé’sﬁ%ﬁa‘mmﬁd | ,
11 ; it A %ﬁmgma%g@qw%mﬁésaﬁwmﬁmﬁm

feran |

(a) AT 3 i FmeA-T1 e € |
(b) heF-17Te T weA-1 e R
(c) i -1 S mer-11 el €|
(d) <rii w1 sii wem-T1 T

-

038-SS
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3 SECTION - B/ @UE - @
Very short answer questions / 3fa Y AT w9 : 2x4=g
21. Study the given picture and answer the questions given below : 1+1=)

L}
t %
1
sl £ V! e 8
e PR i iR N WOUDS.
4 s L —— s AL T
3 - . »-\..2:\‘:.' W",T_:‘m 2
T T M AT e T
e e o BN LT
i SR ot I y AL
G i 2o
“hod S p Py Gt a e,

(a) What do you understand by that democracy which is based on

- equality’ ? . : ,

(b) Who according to the given picture enjoys a highly disproportionate share of
wealth and income ? ' -

fow T ot 1 areeret ¢ i ) ferdt g e o1 o o

political

o

%
AL

'(a; ?hm wmmmm%—mmwm%? .
(b) TR f51 % SR I ¢ SR A ST s et w5 s o
Rl |

038-SS : 14



22. What do you understand by economic liberalism ? Mention any two examples.

23,

24.

25.

26.

27.

aTiffer SERATE | 1Y & WHE ¥ 2 forel ) Sereuil i Seorg Wi | 1+1=2

How Bio-gas is considered an efficient source of energy ? 2:

TA-1g fFg THR S 61 HI G ¥ 2 )

Mention any two features of MGNREGA 2005. | 2

T 2005 i fFR QA foaRiwael w1 Seorg Wt

SECTION-C/@ug -7
Short Answer Questions / T 37 wg= 3x5=15

Who designed the ‘Swaraj flag’ ? Explain any two features of this flag. - i+2=3
RIS 59 e TR foran a2 390 o ot el 1 fadaneti =t smen s

Mr. Rakesh was a regular worker in a small factory. He was not paid his wages 3
properly and the factory did not follow the factory rules and regulations stated by
the Government. Recently he lost his job and was found selling electrical items in

a pushcart. R
Analyze the role of Government in protecting the workers like Rakesh.

T T S el § T Frafie afid 1) 3 I Al 9§ T 4 i
et g i SiR et o1 Ter et feRa T | BT & H SR Al 9 T SR S%
T o0 W B TSI UMM S=d §T I T3 |
Y S AT Y GRaT H THR F iRt 1 ferweror |

| OR/37era

Shalini worksina privaté sector company. Mention two features of private sector
and give examples of any two private sector industries.

wnfert weh fsit S S H T R | Bl fe Y S erdiansi w1 9 Y TN
Forsht &rsrer SEN & IS &1 I SIfSTT |

“India has fairly rich and varied mineral resources across different regions”.
Support the statement with examples.

‘mﬁﬁﬁﬁam%aﬁaa@aﬁﬁﬁrmﬁ%mﬁmﬁww
¥ 1" ST SO S WY R h WA A

038-SS | 15



ctations of
28. How is democracy accountable and responsive to the needs and expe 3
the citizens ? Analyse it. ‘

clvreer R S sl srienei % W fa e @ ARG AL I €2
favaaor = |

"~ 29. Analyze the given comparative gr aph and answer the questions given below : 1+2=3

mmmwwﬁ?ﬁwﬁaﬁxﬁmwm%w%l

Graph 1: GDP by Primary, Secondary and
Tertiary Sector

6,000,000
5,500,000 N

5,000,000 ' .

4,500,000 » - [— [] Tertary
4,000,000 — , - '
3,500,000 | I Secondary
3,000,000 ' i imary
2,500,000 — . ~ B Primay
2,000,000
1,500,000
1,000,000
500,000

1973-74 2013-14

Rs. in crores

(a) Define GDP.
Hhal T IS 1 TR HY |

(b) II\r/fZ{ition any two reasons why the Tertiary sector is becoming important in
ia.

ﬁ@ﬁw@mﬁaﬁ%wﬁ@%ﬁm@@mm@%.

038SS 16



SECTION-D/@Us - ¥

Long Answer Questions / &€ S0 U9 5x4=20 .

30. ‘Culture has played animportant role in the development of Nationalism in Europe

31.

during the 18" and 19" century’. Support the statement with suitable examples.

‘184t 31k 194 ATt % <R AW H TpaE F fepry § Geph Y wEcerqel gfien o
T | SUYE IAEN o 1Y He KT THfT Y |

OR/ 3teran

"In Britain the formation of the nation-state was'r'\_ot the result of a sudden upheaval
or revolution. It was the result of a long-drawn out process’. Explain the given
Statement with the help of appropriate examples. L :

‘ﬁéﬁﬁﬂg—mwﬁﬁmmgﬁﬁ@ém—gwmmwwqﬁ ol =g
Teh st e SITelt Gishal Sl sl o |’ Suger STTETUN ! HerEdl ¥ ST 7Y e =

R FIT |

What do you mean by the term Manufacturing ? Describe the importance of
Manufacturing Industries as a backbone of economic development of the country.

fafmtor =9t afeon ferd | fafmbor e =) e 3 snfeler forebra 6t G 1 &) w1 AE
SaE?

OR / 3teram

How can we say that the chemical industry in India is fast growing and
diversifying ? Support your answer with relevant points. :

T T THRA ¢ o 9Ra A W ge 3o § fefa 3 T e et w1 § 2 S
IR F WY FHUYF I GHGT Y |

5

1+4=5

038-SS - ' 17




. and two-pa
32. Whatis a political party ? Mention two features each of one-party party

14249
system. 2+2*5

ST < 1 % 2 WHWW@TWWWHﬁﬂ—aﬁWﬁ
T ST | '
OR /27e1el

What challenges are faced by political parties ? Mention any two suggestions to
reform political parties. 3+2=5
STt Sl ol TS AR Rt ST e T & 2 Mﬁfﬁaﬁﬁﬁﬂﬂ%fmﬁﬁﬁ
<1 gl 1 39 H | R

33. Why isitnecessary for the banks and cooperative societies to increase theirlending 5

facilities in rural areas ? Explain.

bl IR HehRT [l o fore eraet smu gfaursii ) wrefor &= | gig F o ST
€2 =ren i '
OR /31erar

Why are the deposité in the banks called “demand deposits’ ? What are the benefits

of deposits with the banks ? ' 1+4=5

Sfp # ST T HIT ST ol hed © 7 Sl WS R ey )
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SECTION-E/@US - &

Case Study Based Questions / sh® 3Tenfd wg= 4x3=12

34. Read the passage and answer questions that follow : | . 4

Not everyone welcomed the printed book, and those who did also had fears about
it. Many were apprehensive of the effects that the easier access to the printed
word and the wider circulation of books could have on people’s minds. It was
feared that if there was no control over what was printed and read then rebellious
and irreligious thoughts might spread. If that happened the authority of ‘valuable’
literature would be destroyed. Expressed by religious authorities and monarchs,
as well as many writers and artists, this anxiety was the basis of widespread
criticism of the new printed literature thathad begun to circulate. Print and popular

religious literature stimulated many distinctive individual interpretations of faith
evenamong little-educated working people.

(@) Why were there fears of the printed book ?
(b) What were the implications of print on religion ?

(c) Who was the 16t century reformer who criticised the practices and rituals 2

of the Roman Catholic Church ? Name the religious movement initiated by
him.

ST 77T 35301 1 U IR SHF 1S 3T I G| 6 S S -

T RIS Yfsd forama =1 oot T 721 o, TS8R soeht T off feran, Sek = H 39! ol
3 S Y | AN hl BN fhaTel & ATTH THR TR S I3 Tl YA b1 AAehT I8 STYH]
off foh 71 ST SHHT AN & SIgd T F1 ST JN | 9 o1 fob 7R oY gu iR g =1 @
TR S T30 7 B0 o <l # At iR StentHer foam v ofif | evR T g @
‘oIar’ Wifecd Sl Tl &1 8 81 ST | gHesh 3R THrel qei g viEehl U8 Sellehrl
B =& Wi T8 98 THa1 7a-7fxd iR 7a-yaiia WifecT i = siei=m &l SR

I | BY U AB T Fifesd & o W HA Rifard & Y <l STETT - 3Tl Sl §
Tfifed gu '

(a) Hfsd o = S &€ = = &2
(b) Hfea w1 o T T SR gaN? . 1

(c) Sretes waTed % o guRer w9 el I Froferes = A Ol # orete 2
i ? I g ¥ o9 GUR H e ¥ e ?
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' ! tions :
:35.  Read the given extract and answer the following ques
= .« difficult to imagine that we
Given the abundance and renewability of water, it sls:alk of water shortages, we
. e , )
may suffer from water scarcity. The moment W iﬁfall or those that are drough

immediately associate it with regions having low 12

. n balancin
: - ts of Rajasthan and wome ing
prone. We instantaneously visualise the deser . c]1 storing water and travellmg

many ‘matkas’ (earthen pots) used for collecting a e ..
long distances to get water. True, the availability of water reso | precipitatio
space and time, mainly due to the variations in seasonal 'anc.l annualp .VeI; . r::i
but water scarcity in most cases is caused by over exploitation, excessi an
unequal access to water among different social groups-

(a) Analyse that water availability varies over space and time.
(b) Highlight one reason that is responsible for deserts.

(c) Suggestany two ways to combat water scarcity.

TST T SE01 1 9G SIR Sqeh <% T ot Feeil bl I < -

SIS o foeel R TR 56 Telehtor e IO & B g¢ I% Hre ot gived © fo o
ST T T HIHHAT A1 T bl € | ST € §H A 1 AT B} 910 LA § Al oF T
& T F1el &5 A Y SR 1 S ST S | TR I T T qRd ToTed™ &
HEE 3R A ¥ W HEH Fferd el g8 SR O 9 % 70 ofer s 99 S
il o forst fafa & 9 €1 9% w= § T oni § arffes ik draeft ufeds & wror
SICTHHTEAT T Sucisurdl § FH 3R T % STTER fafimm € | vy aifirmaan wiot =1 e
L e i, STfye T SR I & fafie ot E Sot % s et 3 o O

g

(a) ST WA I STCTS § T SR 999 % SIER fafemr &1 fyvergor 4
(b) Tordil T HROT R THRT A S vt & fw seRerd

(c) S % w @ et 3 fore ¥ & S e
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36. Read the extract and answer the questions :

The Constitution orginally provided for a two-tier system of Government, the
Union Government or what we call the Central Government, representing the
Union of India and the State governments. Later, a third tier of Federalism was
added in the form of Panchayats and Municipalities. As in any federation, these
different tiers enjoy separate jurisdiction. The Constitution clearly provided a

three-fold distribution of legislative powers between the Union Government and
the State Governments.

(a) What are Municipalities ?
(b) Define Jurisdiction.
(c) Name two subjects each, included in Union list and State list.

fSU T IS0 =l 9E 3R SHF A T TR YA HI W S -

Hfaur 3 Hifes §9 9 S wl I Saw S YEsE R o9 o weR (e Y
FR THR e § ) TR To0 TR | Sl TR 1 QR 9RAT T 1 FRTAE BT o |
IR H e STR TRUIfeeRTSH % w9 § w1 T AR wR o S T e
il TEfia e &t We o9 g5 off i WX T AT TR F T STe-3Te
YHR & T | Giaem ¥ o8 ®9 § g 3K 0 TER & o9 faurht stieri =1 6
TR ASa ™ ' '

(a) TTRUIAH 1 2 '

(b) TR - A 1 IReIferg 1

(c) HeREET IR Toa Pt # wftvfera Q- fawal & wm fafew)

SECTION - F/@UE - =

Map Skill Based Question / T ShITeT SR W9

37. (A) Twofeatures (A) & (B) are marked on the given outline political map of India. -

Identify these features with the help of the following information and write
their correct names on the lines marked near them.

(@) The place where Indigo Planters Movement took place.
(b) The place where Jallianwala massacre took place.

A WM (A) 3R (B) T Y RT3 Yar-wmfes W sifa fFT T § 1 32 et
3R 37 WEl A STk Wiy Wi ¢ Yaneii W fofaw :

(a) =& M SR W e A wiferspt w1 avider gor |
(b) & T Sl Sferafare s e gar o
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(B) On the outline map of India, locate and label any three of the followingwith 5

suitable symbols.

(i) Meenambakkam Airport

(ii) Namrup Thermal Power Plant

(iif) Vishakhapatnam Sea Port

(iv) Largestcotton producing State. Identify it.

o T, R 35 - e Pt 7 @ R A 3 el @ e
3R 37 W fafEn .
(i) TR Tl T
(ii) - THEY 19 foga o
(iii) feromaETgeT™ wgET sewme
~ (iv) YUY ¥ T T IEH T TR HIS |

Note: The following questions are for visually impaired candidates only in lieu of
Q.No. 37. Attempt any 5 questions.

e : mmmmuﬂmﬁmmm 37 % T W ¥
for=dl urer wwet T e et

37.1 Name the State where Congress Session was held in September 1920.
3G T4 1 W e stef R 1920 F HHE 1 STUas geT o |
37.2 Name the State where Bhilai Iron and Steel Plant is located.
39 T4 o1 T Tafay el freré o 3R seam w9 feom €1

37.3 Name the State where Naraura Thermal Power Plant is located.

39 T4 &1 W fafen sl 1 ar faea g9 feea §)
37.4 Name the State where Chhatrapati Shivaji Airport is located.

39 T 1 A fafen el safa frersh gar g feom €
37.5 Name the State where Vishakapatnam port is located.

39 T4 1 W fafen <@t favmerre™ wyg v feom €

37.6 Name the State where Hirakud dam is located.
9 T4 1 W fafay skl §hgs oy feom ¥

-00o0-
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Map for Q.No. 37.
e W g 37 % fall
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